ATI—=T

FrUFaFd—F2KR

%1 5|§|MK7"‘(’UT473“Jj°

YOG h—=F AV

A&RIB 981 38BN &8 - M—LE&Toom JIL—TBT
XY T PRI TRHYEHA !

10:00~11:45 #HBMR—)L
11:30~12:30 R—JLER (1t b7 6T)XTODH

HNo.| BFTOKS | 8 |51aNo.| ZFTORS | 1 | BFPYFaA7EFS
498| EE Y¢fE |22 210| @H BE [18| BN W= ®F
650| JUN = | 27| 268 BH EE [25] £F &b EF
848| =M X |35] 369 Biw Fk |35] )IIEH & EF
885 ¥ B— |36] 417 INEREF [39] B FFHE EF
897| Miw %E |36| 419 BIR BF |39 EF
932|O0/N\—=F-1U—|38| 469 ZE fE |43 EF
o974 XHIIED |40| 470 IWMEKLH» |43 EF
o78| MR T|A 40| 478| IWMBHOH | 44 EF
979| /BH 3% |40] 489| BH FE |45 EF

1050 B& #HF— |43| 493| #BHERF |45 EF
1070 811 182 | 43| 494| FE =8 |45
1085 W ET [44] 499 AMAHEFE |46
1009| 28 @R |45 503| kB HF |46
1117 WK B3p [45] 506 5B T |46
1133 M IEE [46] 507 FF BEE |[47|&FPYFar7EFS
1148| SR FiR (46| 509| piE BE (47| €F #E &F
1160| = i |47] 514 IWRRER | 47| TR wE  EF
1198| Wk 8B [48] 515] REICLE [47] &FF Ffhe =F
1214 @80 BYE (48] 521] f¢ W |47 EF
1221 ANSAKEBE |49 528| B FZ= |48 EF
1227| #HK =@ [49] 540 28 85 |48 EF
1229 EH Bt |49]| 545| KB BSE |49 EF
1287 ®H BEA [B52] 546| 2F% BE |49
1302| Eff FE— | 52| 555| KIFEMEE |49
1368| WEBABL |55 557| kK& BE |50
1414| WUB WA |58] 558| RE 2 |50
1420| W8 A |58 560| KR{REKR: |50
1425| P ABZ |59 561| B =R |50
1433| HO &EA |60 570 AB BE |51
1434 RO B |60] 587 SH XWE |54

590| #ll EE |54

596| M @&F |54

BIIV—T

12:45~14:30 B MR-
14:00~15:00 R—JLEE () -7 6T ¥ TODH

COI—-T

156:30~17:15 &BR—)L
16:30~17:30 R—JLEHR ({8 b-7 ST XTOOH

HNo.| BFTOKE | 8 |51iNo.| ZFTOKRE | 88 | BFPVF2PEFE
288| BHF EHf | 9 289 5 BF |28| XE EH =&F
344| AR BX |11 361| #8T1 FF | 35| fWE B BF
368| %H ZE@E |11 372 REEE 36| WKR &L #EF
442| B FE | 16| 384| K #®BE |37 EF
479| tgi@ e |21 399| #H FF |37 EF
544 | K¥ b | 24| 428 HFA BF |40 EF
641 k% B— |26] 440| {5 70t [40 BF
806| IEA #% [ 34] 450| EiEFSH |42 EF
863| diE W— |36| 463| =@ B |43 BF
900| RIWEEA |37] 488| BLIIHE (45 BF
902| EHIE—BBR |37| 490| KBS T |45
910| #K B= |37| 500| BB ¥ 46
944 | B % | 38| 502 HKIELET |46
o47| 1RB ME | 38| 523| NEEWHBE |48
1132| 58 5% [46] 524| WH = |48|&FPVFaAPVEFS
1162| R K# |47| 525| FW {66 |48] && BE EF
1171 B8R =— |47| 526| RIRE¥E [48] @A @F =EF
1177 DA & 47| 533 I #HRE (48| HEHLBD &F
1190| F0B FF0 |48| 537 &8 ¥ 48] EbiE FEWM  EF
1219| JIR A (49| 543| ME 2 [49]| #EB RF =F
1247 PR A5 [49] 544 IRA DO |49 EF
1271 WK BE |51 549 M HE |49 EF
1277 W ZEFE |51 553| BE —% |49
1206| WHEABR |52 556| ZEH &t |49
1315| —8& %L |52 566| JIINKREF |50
1327 | HFA ESR |53 582 b8 WmE |53
1338| KK BF |53| 583| BH Bt |53
1343| ¥R SA |53
1346 B KRl |54
1349 AO 3 [54
1361 B/ABK |54
1384 | K% #E |56
1403| #hB &L |57
1405| &% 8K |57
1423| B2 FFE |59
1424 | IRK BB |59
1426 X753 R’ |59
1427| B iRt |59
1428 8 5 |59
1431 Af¢ = |60
1442| @A sl |60

S1No.| BFTOKS | # |51aNo.| ZFTOKS | i | BFPIYFaAVEFS
18| K& fii— | 1 64| BEEDS | 3| BB =Sth #F
390| SAERER |12 173| BAERT | 7 | KESKBE =F
505| A8 @K |22| 194 MH/\ZRK | 15| HR BA EF
548| Tix &7 | 24| 200| mors il |17 WA &FSE EF
558| 200 & | 24] 286| triEHRET |27 EF
870| H x |36] 297| EE ETF |28 EF
892| =it BEX (36| 371| BH Mk | 35 EF
934 | &)l B [38] 390| UL XFH |37 EF
1023 | M F= | 42| 409| )l BBis | 38 EF
1031 | HE #E |42 429 /%F ¥=T |40 EF
1032| Tk 8% |42 431 BE F& |40
1066| NOfE 63k | 43| 445| &#HAK BF |41
1077 BT B— |43| 459| HFE 7F0#C |42
1078 | WA B |44| 467 BB IBF |43
1130| &b ekl (46| 479 MR BE |44|XFPNFa7EFS
1180| Hi; S [47] 496| #H W=E |45| 6B B8 =EF
1193 | g Bk | 48| 508| &H ¥= |47 EF
1220| B8 MBA |49 520| =% =B |47 EF
1233| HFiE 3k [49] 530| grAH #H 48 EF
1252| P9)Il f— |50| 559| FB/E #FZ= |50 EF
1267 /A fEX |51 567| KNIR = |50 EF
1288| BH &R |52 568| @& HfE |51 EF
12901 | B2 Mt [52] 569| mitir & |51
1292| =@ B8 |52| 572|Fav-3vevy|51
1297| Bl K& [52] 573 I & |51
1304 | ZEig fMl— |52 578|FA-VYE3 V|52
1306 RIFR 8 |52] 581 EL & |52
1309| @)l 3AX | 52| 584| RE e |53
1312 AH | 52] 586| E=EAGSHE |53
1314| 'BRE BRI |52 588| t=E GIE |54
1344 | TR E£= | 54| 589| RETF_1 T |54
1345 H¥E A [54] 592| g BxE |54
1350| W B |54
1365| Bis BE |55
1366| USE 5T |55
1370| #ili —th |55
1372| P8 & |55
1386 NUERMIARR | 56
1390| =% &= |56
1392| W@ FE |56
1394 | BN B |57
1395| fkix B |57
1396| t&E = |57
1400| T)I| 3 |57
1408| & =T |57
1429| RRIRMX |60
1430| B ZF— |60
1432| Py IBFEE |60
1437 #AK —3@ |60




